
174804.8-244-PCA-4013-MJD55484.65620_lc.txt  /  MJD 55484.656147 / burstid=4013
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Exponential fit
Expon. time:   18.54+/-   4.22 s (chi2-red=  1.35)

Peak flux:   0.116+/- 0.025 c/s/cm2

Fluence  :    2.81+/-   0.53 c/cm2

Duration :    66.27+/-  12.64 s
Best fit model: 1.
Best fluence model: 1.
Best duration model: 1.

Grey line: exponential fit
Black line: power law + gauss fit
Dashed line: power law
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Power law fit 
Power law index:  -1.351+/-  0.229 (chi2-red=  1.38)
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Power law fit  plus Gaussian (st.dev.= 26.37+/- 3.72 s, fracgs=   0.61+/-  0.13)
Power law index:  -3.067+/-  3.658 (chi2-red=  1.36)


